oA

® 0 @—g ® n

@ -1.52

Nelfap)



15 3 3  3x(h 75

20 4 20D 22x5th :@:(”B

@ 0h2 @ W2 ® 5



rlo £t

S % x = 13.5434343 ... & BE52 UJEH= AlAto| A 2ol A]
{7

@ 10x-=x @ 100x — x

@ 100x — 10x 3 1000x — 10x

@ 1000x — 100x






ol
5

j—

d
__O.._

o
1

T

L7} 36 o]

T
No

<
]

5 T Aol

29
36

®

27

36

@

25
36

®

23
36

@



N EHMEE:

< ZA5H 2t = »gde o o] HA ol sigst=
?

g’
rlo do

@D 0.453 @ 0.453 ® 0.453

@ 0.453 ® 0.4530






@ 34 ® 90 @ 99 ® 121

@ 33



)

1257k ofd 7| OFRAE B

5]

® %

bl



St ?

&3

,a+b 9 7k

SH
=

a

3 130

@ 31 3 60 @ 65

@D 19



njgole tha AlntE shl Sl Alt71E A-gstal ok, mhA]=t
e =3e W, A7) St 244 ot o] ofd A2l H 44
sApe] v do] Al HEol He Ae BF =EEh
@ 3+25 © 3+11 © 13+50
® 5+4 @ 1=+3

¢

)



173

300 = 242 UEUH 0.abc olth a+b+c 9 #2?

12.

@D 18 @ 20 3 22 @ 24 ® 26



o uf, &gtad 0.ba S 71oFES =2 YR olat,

13
33

Al o] 2pal%)

5

=S
L.

(T, a, b



14. 1343 {§ + <o.5 _ g)} 0.8 2 Axtstofe}.

@D 15 ? 1.6 3 1.7 @ 1.8 ® 19



15.

g 5§84 ol A

® 0,1,2,3,---

® fetas
® -15, 1
9



WA R e £5 7]orEs R tehyolat,



17.

A5 n o ok a, & 12422 + 32 4. +n? 9] D] 229
SARL Ao o, A% Oajasaz - -a, - 9] 28Ut O] 52219

A%E Tstoler.

ge:



il

el

i

+ Xxo5

X1+ X3+ X5+ X7+ X9+ -

Q@ 74 B 76 @ 78 B 80

D 72






20. 2000 - 2.000 B A4 g £47 ok 2000 WA Aele] 24
Fstofet,

YEE
c



